The relationship between the two sets of data on your sheet is an
example of DIRECT VARIATION

When two quantities have a CONSTANT RATIO

Graph of Direct Variation is always a Line that passes through the Origin
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Two equations for Direct Variation are: and
Does each graph represent a Direct
Variation relationship?
1. 2.
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In these Direct Variation Equations: l= k
X y = kX

and

What does the letter k represent?

® The Variation Constant
® The slope of the line.

For Direct Variation, ignoring Pos or Neg

As one quantity increase the other quantity also increases

Does each table of values represent
a Direct Variation relationship?
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Direct Variation Equations:
i
- 7 ko o y=kx

Is each equation direct variation?
If yes, find the variation constant.

1. 4x+ 2y =10 2. 6+7y=5-3x+1
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